RSSHAS] ABHASS.

%14

| | ]e
a
o = =| g 2
= : = ———,
]
010
265
735
4 1090
1414
pos. | piece | part name
005 1 glass tube dm 5 x 0,5 x 137 length with
thread GL 14, 1,8 thick, 22 length
010 1 seal (silicone rubber)
015 1 cap, plastic, with GL 14, dm 16 x 15
020 b seal, rubber, one side
coated with teflon, dm 12 x 1
025 1 holder, plastic, with thread M22 x 1
030 4 attachment, plastic, dm 25 x 47
035 | 1 pin, plastic, dm 3 x 4
040 2 pin with thread M3 x 5, slot, and tip 90°, plastic
045 1 tube, glass, dm 3 x 0,25 x 227
050 1 tube, plastic, with threads, dm 5 x 40
055 | 1 cap, plastic, dm 5 x 15
060 | 1 joint, plastic, with threads, M10 x 12
065 : tube, plastic, dm 12 x 2,25 x 1240
070 1 pin, stainless steel, dm 1,5 x 15
075 | 1 tube, plastic, dm 21 x 1,1 x 1090
080 [ 1 centring ring, plastic, dm 21 x 8
085 1 centring ring, plastic, dm 39 x 10
o =D {:::5;:“ :I
IS [
AT | e Jomeenc Em=m
iy

S o 7 T BT Y




PASSMASS| ABMASS

A thread GL 14
——
@95
= | -
| m \
} o~
7
|| ‘
n l
n ‘
|| |
2 i |
= n ‘
|| ,
i 5| B ¥ |
1 ;
|| |
n ‘
|| ‘
|| -
' I seal (silicone rubber)
- L
I —~ T
=
i b 4
‘>—‘ ®5
A
8 M | material glass
@ 111 | ROHMASS
AB|AENDNR. | DATUM | NAME MAT.-NR.
DATUM NAME part name part number
BEARB. glass tube, dm 5 x 0,5 x 137 length
= with thread GL 14 0@5 and 0410

36 Copyright reserved

Al

1
l BL. 1 lBL-Z. 1




PASSMASS| ABMASS

A
o ; M5 left
012 |
| |
oo B
| L 5 | %! ! o
(T, | IN
fa T T 7 " ' i
Il il e
e ot el
| GL 14 biveled
?16
—f—
A
o
o
N
Q\‘o
Zuldssige Abweichungen
nach ISO 2768 - fH
8 M | material teflon
@) 1 | ROHMASS
ABJAEND.NR. | DATUM | NAME MAT.-NR.
DATUM NAME part name part number
BEARB.
GEAN. cap, plastic, with thread GL 14, dm 16 x 15 015
KTRL ,
36 Copyright reserved A4 l BL. 1 IBLAZ. 1




8.0

PASSMASS| ABMASS

sealdm 12 x 1

one side coated with teflon

36 Copyright reserved

I |i| T Ij%D

Zulassige Abweichungen

nach ISO 2768 - fH
8 M | material rubber/teflon
O 7:1 | ROHMASS
AB|AEND.NR. | DATUM | NAME MAT.-NR.

DATUM NAME part name part number
g’?;ﬁ- seal, rubber, one side coated with teflon 020
KTRL dm 12 x 1 '
Ad ‘ BL. 1 'BL.AZ. 1




PASSMASS| ABMASS

A
- 25
o M22 x 1
' N
e ~
~ X
n
(@]
n
~F
m
m
\N
lﬁf&
5,4
®15
Zulassige Abweichungen
nach ISO 2768 - fH
(S M [material plastics
8 11 | ROHMASS
ABIAENDNR. | DATUM | NAME MAT.-NR.
DATUM NAME part name part number
BEARS. holder, plastic, with thread M22 x 1 025
ﬁ?’;ﬂ dm 25 x 40

36 Copyright reserved

Ad

1
' BL. 1 lBL-Z. 1




? 25

>

M22 x1

PASSMASS| ABMASS

2
47

nach ISO 2768 - fH

Zulassige Abweichungen

@25
@23
my| wn
| e n
s |
|
N,
5| N | NE
ALy
= - n
o~ ‘ n &
[
17
M22x1

E% M | material pPvC
o) 11 | ROHMASS
ABIAENDNR. | DATUM | NAME MAT.-NR.

DATUM NAME part name part number
g@fﬁ attachment, plastic, dm 25 x 47 030
KTRL

36 Copyright reserved

Ad

1
l BL. 1 ’BL—Z, 1




®25

®23

“11)
O

36
-

PASSMASS| ABMASS

@25
@23 pin dm 3 x 4
m
S
i
T
m
b
S 2 o
_Ir =,
|

195
10,5

?17

M22x1

Zulassige Abweichungen
nach ISO 2768 - fH

pin with thread M3 x 5

] v |material PVC
0O 11 |ROHMASS
ABIAENDNR. | DATUM | NAME MAT.-NR.
DATUM NAME part name . . . |part number
BEARB. attachment with pin, plastic
L and pins with thread 030 /0357040

36 Copyright reserved

Al

I BL. 1 IBLAZ.1




227

A
— —
(o)}
~
M5 right
fixed with glue
Il
g ! ! ?5
. fixed with glue
M5 left
o}
@
?3
—

227

49

M5 right

(40)

24

fixed with glue
—————=

25

®32

138

~. fixed with glue

M5 left

?3

925

PASSMASS  ABMASS

8 M |material  glass, PVC

241 [RoHMASS
AB|AENDNR. | DATUM | NAME MAT.-NR.

DATUM NAME part name part number
BEARB. tube, glas, dm 3 x 0,25 x 227 with
e g 045 and 050
tube, plastic, dm 5 x 40

[KTRL - .
36 Copyright reserved A3 TBLJ BL-Z 1




? 3

| 925

227

PASSMASS| ABMASS

® M |material  glass
©) 110 |ROHMASS
ABAEND.NR. | DATUM | NAME MAT.-NR.
DATUM NAME part name part number
BEARB.
GEAN. tube, glass, dm 3 x 0,25 x 227 045
KTRL .

36 Copyright reserved

A4

‘ BL.1 IBL‘Z. 1




Zulassige Abweichungen
nach ISO 2768 - fH

PASSMASS| ABMASS

M5 right

40

(24.)

?5

D 3,2

M5 left

8 M | material plastic
: ROHMASS
@) 14
ABIAEND.NR. | DATUM | NAME MAT.-NR.
DATUM NAME part name . part number
BEARB. tube with threads,
GEAN. dm 5 x 0,9 x 40 length
KTRL ;

36 Copyright reserved

A

[ BL, 1 }BvaA 1




PASSMASS| ABMASS

A
—
0N
@ I ! I n ~NF
o
L]
®5
—
A
o2
Zulassige Abweichungen
nach 150: 2768 - fiH
8 M |material plastic
& 2:1 | ROHMASS
ABIAEND.NR. | DATUM | NAME MAT.-NR.
DATUM NAME part name part number
é@s& cap, plastic, dm 5x 15 055
KTRL :
36 Copyright reserved A l BL. 1 IBL—Z. 1




PASSMASS| ABMASS

MAG x 1

—— ?35

12
12

10

—— L2

N
+
WP

Zulassige Abweichungen

nach ISO 2768 - fH
£ M [ material PVC
8 21 | ROHMASS
AB|AEND.NR. | DATUM | NAME MAT.-NR.

DATUM NAME part name part number

BEARB. o . .
GEAN. joint, plastic, with threads M10 x 12 060
KTRL |
36 Copyright reserved Ad 1 BL. 1 IBL—Z 1




IPASSMASS| ABMASS

pin dm 1,5 x 15
n
el
~N
a Vo7,
= SN
b
&~
15
a |l
g ‘
o
M10 x 1
8 M |material PVC/stainl. steel
@) 11 |RoHMASS
ABJAENDNR. | DATUM | NAME MAT-NR.
| DATUM NAME part name part number
Zulassige Abweichungen [BEARB. tube, plastic, dm 12 x 2,25 x 1240 065 and 070
nach IS0 2768 - fH oA, — with pin, dm 1,5 x 15 an
36 Copyright reserved A3 B ‘ BL.1 ‘Bbz 1




1094

0/‘ \0
(W)
N

see detail 1

1094

@21
= centring ring dm 21 x 8
~
Y -1
o187
PN8.8
T T
@21 ‘ |
| @21
I
T
o \
g tube (plastic) dm 21 x 1,1 - 1090 | |
| detail 1
scale 1:1
AN | |
My m
— = 7
3,5
topview &23 425
=N
— ,_/ {1
N ¥
Sy }
X AR
17
/?Z75
S~ Zuldssige Abweichungen
= nach IS0 2768 - fH
£
m 4,25
] M [ material PVC
35 8 12 | ROHMASS
: ABJAENDNR. | DATUM | NAME MAT.-NR.
DATUM NAME part name part number
BEARB. tube, plastic. dm 21 x 1.1 x 1090 075
IGEAN. with centring ring (part no. 080) :
KTRL .
36 Copyright reserved A3 I BL.1 [BL—Z. 1

PASSMASS| ABMASS




PASSMASS| ABMASS
A
©18,7 ®18,7
———— beveled
- ~ 1 —ll © ~
S |
= @21 ! @21
—-—»_
16,8 A
m
- 7N
\T 4><5‘
49\5\
All radii R=0,1 mm (if no other values are given)
Zulassige Abweichungen
nach ISO 2768 - fH
8 M | material plastic
®) 1:2 | ROHMASS
AB|AEND.NR. | DATUM | NAME MAT.-NR.
DATUM NAME part name part number
BEARB. centring ring, plastic, dm 21 x 8
GEAN. g rinsg, p 080
KTRL .
36 Copyright reserved Ad 1 BL. 1 ’BL—Z. 1




PASSMASS] ABMASS

®39
A
—— ?1 LQ 0
x X
S S
bl L 1 1 l
l MOCOOm— ] }
Q[ TACTA e o
L o | 3
&~ ~
Lt |
f &
P
——— ® 215 v
(@b
A ® 24,25
®27
Zuldssige Abweichungen
nach ISO 2768 - fH
Q M |material teflon
8 11 | ROHMASS
ABJAENDNR. | DATUM | NAME MAT.-NR.
DATUM NAME part name part number
EEAE,E'_ centring ring, plastic, dm 39 x 10 085
KTRL s
36 Copyright reserved A4 I BL. 1 IBL—Z. 1




	Apparatus complete
	Part 005 and 010
	Part 015
	Part 020
	Part 025
	Part 030
	Part 035 and 040
	Part 045 and 050
	Part 045
	Part 050
	Part 055
	Part 060
	Part 065 and 070
	Part 075
	Part 080
	Part 085

